. .| ¥ ok

LA ER N I e (50£% 5L)
Atke [ 1| gued | 9 [1934 89 0 kw AR LA ARIDY
rik2 | 2 | §9E | 7 |7234 5% 6 B H © D 280~ S HK1950
Atke | 3 | 3v4p | ¥ |7238 40 6B AIRE M A 4pA3R
Gtkr | 4 [getpges | % 7934 50 0 8% A HFE AR i bTH2
AtR2 [ 5 | Bipis | 9 |1234 80 0k v HFE OB < HHRT2R
ik | 6 | §RAE | |T234 57 G EH S HRI 64~ 7550352 |
ke | 7 [ gssg |9 (7934 60 0 A kT (AR 411048
Atk? [ 8 | 39w |+ |7234 467 6B AIRTBA S K HRIZ6H2 2
A4k | 9 | sneadr | 9 (193t o AT AR OB ARIATEE
Atka | 10| sk | X 193450 0 b w vtk 108 % A HF163%.23
Atk2 |11 ¥#0E | 9 (123483 &R % @ik IIMe 430523




